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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 67/TUS/2, Set [A] on the Answer-Book.
5. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the

question will be yours only.
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All questions are compulsory.

Marks are given against each question.

Attempt all questions either from Optional Module-A Housekeeping or

Optional Module-B Creative Hand Embroidery.

Section-A consists of

(a) Question Nos. 1 to 9 Multiple Choice-type Questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of the
four options given in each of these questions. An internal choice has
been provided in some of these questions. You have to attempt only
one of the given choices in such questions.

(b) Question Nos. 10 to 21—Objective-type Questions carrying 2 marks
each. In Question No. 20 an internal choice has been provided for
Visually Impaired Candidates. Attempt all the questions as per the
instructions given for each question.

Section-B consists of

(a) Question Nos. 22 to 28 very short answer-type questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 29 to 31 short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 32 and 33 long answer-type questions carrying
5 marks each to be answered in the range of 80 to 120 words.

Optional Module—A and B consists of

(a) Question Nos. 34 to 36 carrying I mark each.

(b) Question Nos. 37 to 40 carrying 2 marks each.

(c) Question No. 41 carrying 3 marks.

3@ Y- H Pt 41 wA few Mo g

oty srfE 2

Tk Y % 3h U dmd fer

ShfcTsh Tise-A TE-SGEAT AT dehfcush Higd-B HollcHeh g&I-HeMarhil

wft g % 3w G

Wue-A

(a) W HET 19 9 T Fgfashcdtd T (MCQs) &, T 1 37 i 8| Tish 794 # feu
T =R faehedl O ¥ o8 IUTH foehed &1 999 i 3R @ | 8 9 H AMNH
ferepen feu mmu &1 3muek! TE wwAl H fgu e fesheul § @ hael Wb ol AT Bl
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(b) T T 10 ¥ 21 T IKHE Y &, SN TAH 2 3 H gl T & 20
gfvafera snafo @ fore stafes foeed feam mn 21 v w7 & fore few o faden
% FTER | T H I AR
(vi) wue-a
(a) TF HEAT 22 ¥ 28 3f TETIT T & G T % 2 37k i &, s 3w 30
¥ 50 TIsGi H ¢ &l
(b) ¥ TE 29 ¥ 31 AT Y & aAT Y% & 3 b Mid g, T IW
509 80 viegi # ¢ &l
() I HE&AT 32 U 33 CH-3q0T Y & aUT A & 5 3 g g, e 3w
80 120 Wil # ¢4 Bl
(vii) depfodes ATe@-A 3R B
(a) T T 34 ¥ 36 TAH 1 b |
(b) I T 37 T 40 YIH 2 37 H|
(c) T T 41 3 37 |

e \
(1) Answers of all questions are to be given in the Answer-Book given to you.

afi Sl % I TRl & S S-Yfeaeh A & ford|
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

39 YH-TF l Ted o fiu 15 fide 1 g9u fear wn R wwE-w o faaeer Qv #
2:15 &9 foram S| 2:15 o9 @ 2:30 S dh B hddd IH-UF I Tl N 39 37
% SN o IW-Yfdspl T HIE W A& fora@|

SECTION-A
G us—H

1. (i) Two-year-old Rajesh has swelling in his legs and face. He has potbelly
and light coloured hair. Which deficiency disease he may be suffering

from? 1
(A) Marasmus (B) Kwashiorkor
(C) Goiter (D) Anaemia

Tr-aeffa To 6T M SR T8 W HIH I TS | ITeh! dig kel g3 8 3TN 3T
I R W % & 98 e Wit a@ it w9 difsd @ dwar g7

(A) AUHSH (B) eRITTTERT
(C) TmsX (D) 3w
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Or / HYar

(ii) Methi is preserved by which method?

(A) Dehydration (B) By salt

(C) Addition of preservative (D) Freezing

Heft w1 fopm faty @ wxfera foram smar @7

(A)  Frstefism (B) 9% gWI

(C) T&T® g (D) =M

2. (i) In food exchange, what is equivalent to one Chapati? 1

(A) Two bread slices (B) Two Idlis

(C) One plain Dosa (D) 1/4 cup Dalia

W wfcRATd # U T ke w1 R7

(A) @ ST T (B) @ secft

(C) U* drer S (D) 1/4 %9 gfen
Or / 37947

(ii) Your grandmother is suffering from hypertension. What should she not
eat from the following menu?

(A) Roti (B) Masala egg curry

(C) Raita (D) Salad

IR T 3= WA ¥ fifed €1 Fafefed o § | 3% 9 T FE HE aree ?
(a) & (B) THTCIGR 3TUel il

(C) T (D) g
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3. (i) Which would save space in a small bedroom? 1

(A) By keeping a cupboard (B) By keeping a table
(C) By keeping a box bed (D) By keeping a dressing table
THh Bl § ARG H T hl g9 hd hl I Hehdl &7
(A) ITEHERT W@ (B) TS T@H
(C) dfed d8 W@ (D) sfm 2ae @
Or / 31941

(ii) Built in cupboards are advisable as they

(A) do not occupy floor space (B) are easy to install

(C) look attractive (D) are long lasting

R H sl g5 AW hl HAR § AW 7, Hih

(A) 98 B W W TE ¥d (B) 3Th! LT HET HAEH Bl &
(C) o8 3TNk ot & (D) 98 @d §9T d% derdl &

4. (i) Which of the following can reduce your electricity bills? 1
(A) By using hair dryer (B) By using electronic choke
(C) By using mixy (D) By using washing machine
frafefaa & @ fhaer 3w i fooell & foar o et ft S aehedt 87
(A) TR IR (B) Soidgiteh =
(C) ot (D) =TfsET wefa

Or / 37¥ar

(i) Which of the following is a renewable source of energy?

(A) Geothermal (B) Nuclear fuels
(C) Electricity (D) Wood
fraffaa & @ #9 wh e S w1 a7

() AT (B) TRH Se

() fosreht (D) <Rt
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5.

6.

In which two investment schemes, can you quickly withdraw your money? 1
(A) Savings account (B) Units

(C) Life insurance (D) National Savings Certificate
HH-H @ fEw Fest § o My o T8 e wehd 87

(A) s=d @ (B) I

(C) Sfaa st (D) TEH s=d 9

(i) Write True or False against the given statements (any two) : 1

(a) Girls have lesser fat than boys around their bones.
(b) A child in middle childhood has 28 teeth.

(c) Strong bones provide better support to the muscles.

fou MU wem wE § W o fafEw (w5 @)

(%) oTgehi I 3T, wefpal i sfgal W wr =« it 2

(@) uex SeaEwdl § o= % 28 @i & 8l

(T) weq giedl, WHURRET bl TS LR <t &
Or / FHYdl

(ii) Vasectomy is

(A) permanent method of family planning

(B) temporary method of family planning

(C) performed before 18 years of age

(D) performed after 60 years of age

SHEER (TeT-THeE)

(A) TiER TEise %1 TRt alie g @

(B) uier fEiem &1 srurlt aier g 8

(C) 18 =y < 3y & qd & fopm Smar B

(D) 60 a9 1 3 & &g foham Jram 3
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7. (i) At what age do children use metaphors like look before you leap’ in

their language? 1
(A) 2 to 3 years (B) 6 to 11 years
(C) 3 to 5 years (D) 3 to 4 years
T T T H RIA-T I T Goh-thehoht el T W ®ISH T TN HW @7
A) 2 ¥ 3 o (B) 6 & 11 ¥
(C) 385 = (D) 3 & 4 9%
Or / 379ar

(ii) 10-year-old Manoj has begun to understand that if he gets up late, he
will have to walk fast to reach school in time. Which cognitive
characteristic does this?

(A) Classification (B) Seriation
(C) Time and speed (D) Conservation

TH-Tfa TS TS € fF 98 TR S ¥ I3M @ I THY W T g & g
A IO IS IE HHA-H EETHS foiwdr il A Hehd hidl 27

(A)  erfieRTor (B) vfierg T
(C) wHa R T (D) =&
8. (i) Underwears are made by which technique? 1
(A) Braiding (B) Knitting
(C) Weaving (D) Lace
Jded fhe dehdi ¥ 91T A 87
(a) sifem (B) fafé
(C) e (D) ©=
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(i) Which weave is created by using thick yarns with thin yarns in one

direction?
(A) Basket weave (B) Rib weave
(C) Plain weave (D) Satin weave
e g0 I Uq gd b WU TH & G A OTEAR Fh HH-H GAE Iqd Hl
STt 87
(A) STEhe TS B) & T
(C) ®TERYT AT (D) wfed o1
9. (i) Which stain should never be removed with hot water? 1
(A) Tea (B) Blood
(C) Grease/Ghee (D) Paint
HH-H 9o I FH b [ TH THT HT AN FH AE BT AMME ?
A) =™ (B) @
(C) it/ (D) e

Or / 37¥ar

(ii) Which of the following is not an auxiliary?

(A) Blues (B) Optical brightening agents
(C) Chemical bleaches (D) Soap

frafafes 8 @ S9-w1 w dees amft 7@ 27

(A) (B) aifesher smeefm woe

(C) & geH ard werd (D) &
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10. This question has two cases. Answer both : 2

39 U H @ & 2| eHl % IW AN

Case 1 :

When does the body use proteins for supply of energy?
(a) Lack of carbohydrates and fats in the meal

(b) Excess of protein is consumed

(c) Consumption of excess animal protein

(d) Excess of carbohydrates and fats in the meal
9 1 :

FoAt I (A b foTT WA H 3T IR HE Rl 7
(%) BN U HEEEee AN I@ Hl HH BH T

(@) Al WEF &1 FaT HH W

(M) Tl AET B Uy WA 1 Hed i W

(F) 3MER H HEEEE 3 I@T & A YH 8 W

Case 2

Issues of safe drinking water and environmental sanitation are included in
which National Nutrition Programme?

() ICDS

(b) Mid-day Meal Programme

(c) National Nutritional Anaemia Control Programme

(d) National lodine Deficiency Disorder Control Programme

FT 2

W W I qYT T Wesdl S8 ge fha Us qiver wrisd o wnihe §9
() 3o Hlo Blo THo

(@) tie-3 M sy

() L Tqer FEE S HEE Rk

(F) TE™ AREH =Ed AW Q¥ I SR
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11. Give any two suggestions for saving money while planning meals. 2

JER AHT SHId THT 99 S 6 his & ged G|
Or / 391
Which of the following meals is not suitable for a 7-month-old child?
(A) Kheer, mashed banana and dalia
(B) Suji kheer, mashed potato and dalia
(C) Fried potato, khichri and boiled vegetables
(D) Dal soup, mashed potato and dalia
fafafiga & @ S9-w1 3mER v Gd-uE % By F foau suge @ R0
(A) R, 79 BT heAl IHR Gfer
(B) ¥ 1 @R, WE B3 A HR glor
(C) e B3 3e], Ra=rdl 3R 3ot g3 wlewdi
(D) et §q9, FEAT I I I gferam

12. Write True or False against the following statements (any four) : 2

(@) Qualitative modification of diet refers to change in nutrients
consistency and spices.

(b) Sex of a person has nothing to do with his/her meal planning.
(c) Pulses are rich sources of calcium.
(d) A balanced diet includes any five favourite foods.

(e) A labourer should eat more grain than an office-goer.

feu U wm wE € 91 e feafen (1 = W)
(%) TUCHh TG 1 34 g WS A U9 v, detal 3 qaTed St a1 H gfed
AT

(@) Tl =t & 71 1 3T WISH IISHAT ¥ s A91-¢1 T8l 2|
(M) Tl H hfowm R wEn # g @l

(7) wqfera HER ¥ #13 uie wwde W ved aftifad g gl
(3) TH TG HI IAMKE TH A Ak § AT IS GHT AT
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13. Match Column—I with Column—II : 2

Column—I Column—II
(a) Solar panel (i) Generate electricity
(b) Hydel energy (i) Saves petrol

(c) Suitable air pressure (iii) Use of animal manure
in car tyres

(d) Biogas (iv) Free hot water

HiTH—] B Him—II § gaferd HIrT -

Hiem—I wicH—II

() HIe It () ferga Ieme

(@) vt Sl (i) U H TEa

(TT) R % TR | & (iii) e < @ud
%1 3fd caE

(F) S| (iv) T¥ T 9

14. Mr. Lal and Mr. Anand have the same income as well as same family size.
Mr. Lal has every month puts some money in various investment schemes.
Mr. Anand has put all his savings in a savings account in the bank.

(a¢) Who will be richer in the long run?

(b) Give justification for your answer. 2

off AT 3 it = THT h THE T 3 GAE IRER &1 3R gl off o T3
arE F© AR Faw geenst & sefd g1 ot 3= 3 o i §=d, % % g9d @ |
@ B

(%) @ @Hg H A I BT B e
(@) 30 I 1 ifa i
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15. State whether the following statements are True or False : 2

(a) The teacher plays an important role in the socio-emotional
development of the 8-year-old child.

(b) Children should be taught to write when they are 4-year-old.
(c) A 4-year-old child should be encouraged to excel in all skills.

(d) Children lose their self-esteem, if scolded in front of others.

feu T wom w@ € W e e

() Tsh JEATIH TS Y &% T= o HHISTh—HaTIcH ferehrd H wewarqul yfreht furer 2|
(@) o=t & IR 9§ S Y ¥ foran o =nfzu)

(M) =R-a¥fT s=F h et DI § IHTA T w5 U dieafea fen S =t
() E % O SR’ W W g IO STeHEEH @ e 2

16. Which cognitive characteristics do the following activities indicate? 2

(a) 8-year-old Mohan cries when he is served cold drink in a small glass
instead of tall glass.

(b) 6-year-old Neeta makes new animals with the clay.
frferfga nfafafe & & -3 FemTeEs 07 6 3T Hohd Bt 27

(%) ATS-auTT Al TS & ST 8 9 38 R TAH <hl U8 DI T J 9 qeref udEn
ST 8|

(@) ®:-adfa fiar fedt & g ¥ -0 TR s 7|

17. Which four activities need fine muscular coordination? 2
(a) Paper tearing
(b) Buttoning a shirt
(c) Writing a sentence
(d) Eating with a spoon
(e) Skipping a rope
(f) Pushing a heavy box

INENRIEARA cer.o.
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FfTRgd # 9 HH-H AR (iRl i g&d AEuRRE & G0 i STl sl 8?7

18. Give one word for the following sets of words : 2
(@) A weave that has diagonal lines on the fabric
(b) A weave that has long floats on the surface
(c) The total number of yarns per square inch of the fabric

(d) Only one set of yarn is interlooped to get a fabric

frafafaa wegi & wqg & forw s weg o

() T T 8 o gw W o @ s d R

(@) g5 oH gag W a9hiel, o %e Bd @

(M) 4 g 9@ & Ufd @ 39 H, a9 F §H H FA q@&AN

(F) TH & gd Bl Bal A el U [N W gE SHET A6 8

19. State whether the following statements are True or False : 2
(a) Blues are obtained from chemical, vegetable and mineral sources.
(b) Methylated spirit is used to remove grass stain.
(c) Woolen garments should be soaked before washing.

(d) Sandalwood can be used for storing woolens.

feu T YA @ & A e ferfEn

(%) WA, I9fd IR G Jidl & Hia 9" T Sar 21
(@) =™ &1 e &eH & e s forfe &1 3w fen S 21

(M) 9 § uEA S HuSl HI fEE =y

() S IS Bl YU i & [T Ted hl IS T YA foham S ekl &1
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20. What do you understand by the following symbols? 2

(@) ‘ ‘ ‘ (b)

(c) (::) (d)

ffafe el @ @ wwea 87

@ || ] (@)

(m) (::) (=)

( Alternative Question for Visually Impaired Candidates )

( giEaiem srvateEi & foTe Jehicush w9 )

20. What is the role of the following in the case of fabrics? (any four) : 2

O OB

(a) Hydrogen peroxide

(b) French chalk

(c) Glycerine

(d) Camphor

(e) Javelle water

el # Tmwe § frafafad @ wn afe 27 (3 W)
(%) TIESISF TITHHES

(@) %9 =

(M) A=

(@) IR
(8) S I

21. State any two appropriate ethical behaviours of a school bus driver. 2

Thel o 99 AT b I g Iad AT FEeR §arsu|
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SECTION-B
wus—d

22. “Inadequate knowledge and skill in your work can create problems.”
Support this statement with the help of examples. 2

“fopell oft W % Ufd, 3O IH R FICAT THRATC Iqd HL Fhal &l 36 HUH I
3l 6 gEEdr 9 guefa hifsu)

Or / 37¥ar

Which four habits will you develop to observe ethical behaviour?

Jfcer FIER 1 UTed o+ fAU 39 wH-H "R 3Aed fasfad sy

23. Why is it not advisable to keep a peeled apple for long? 2
focr gu ¥ w1 Ao T q% W 3fed w= T dare
Or / 31941
Why should the cooked food be kept in the refrigerator?
TR T WIS R TR § I W@ =

24. In which four ways are slum dwellers responsible for the environmental
degradation of their area? 2

I -SNTE! § @ a1l AN 319 &5 o Jiawo] Fientor o foTg fo om @@ | R 27

25. Guide your friend with two points to be kept in mind while using any
electrical equipment. 2

3o T 1 foSell & 3T T AN A FHT AW H W@ A @1 S Sdrsy

26. Trace the steps of preserving carrots at home using the freezing method. 2
W R smH 1 fafy gro TeR @ afaida e % T fafan)
Or / 37¥ar

Outline the steps used for making dehydrated potato chips at home.
W W Fefera o & fowm s9m & =@ f FRE @R i
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27. Suggest one way to make a Besan Chilla more nutritious. Justify your
answer. 2

954 =il H IR 3w s T H U alh Ul HRO dfgd U IW H g
s

28. Family has been served Dal Tadka and rice for lunch. Modify this meal for
a 2-year-old child. 2

YNER ol CUEL @ 3MER | T dgehl 31 I 908 7MW 8| e §1d & s o (G0 30
U wunfua fepam ST Hehdr 27

29. A number of educational reforms and policies has been made for girls.
Tell any three advantages of these. 3

wefral & fow 3 et gur 3R uiferlt a9 18 €| 39 &8 d9 oy ARy
Or / 37¥ar

What three precautions should be taken by a woman at the time of
delivery?

U Higell H gHa (fecfiadl) & wmg SiA-d @7 gewfE s =fge?

30. Which three criteria will you check for buying good quality of the fabric? 3
IS e 9 HUS Glgd auF 39 fohd @ AHGEl W SIH e
Or / 37947

Which three points will you keep in mind while selecting clothes for your
grandfather?

3 et % folu Sugi #1 g9 wd 999 39 foh @R STal o e @

31. Describe any three malpractice traders indulge in the textile area. 3

HUST O Hafd AW gry hl I aret Tl i gfaferi st avia hifsy

32. Why do adolescents consider their peer group more important than their
family members? 5

ORI 319 |TRAT 1 39 IHER o TGl § 31U Hewequl @&l HMd & ?

321/TUS/113A 17 INENRIEARA cer.o.



Or / HYal

Give five reasons as to why there are arguments between adolescents and
their parents.

foReIi 3R 3k ATaT-fuar & <ff9 989 gH % uig HRU Sasy
33. Mention five advantages of buying packed food. 5
Uhe S¢ @E e @iled % uig AW Faru|
Or / 37¥ar

What is BIS Act? What are its salient features?
Ho3Mgoudo fufem w1 87 39 HAE i @ feoryard &2

OPTIONAL MODULE-A
Serfeush ATSIA-A
( Housekeeping )
(R )

34. (i) Bath brick is used for making

(A) copper cleaner (B) furniture polish
(C) metal polish (D) furniture cream 1
ryfses 1 T fehEel s % fow Tk Smar g9
(A) I FAT (B) WHteR uiferst
(C) o1q 1 diferst (D) W=R shH
Or / 37¥ar

(ii) Ceramic tiles are cleaned by using

(A) concentrated hydrochloric acid (B) kerosene oil

(C) hot water and detergent (D) vinegar
A firedt 1 el A B feEd S 27

(A) 95 FTEgEANNH 3T (B) fagt =1 aa
(C) ™ Ut 3 feesie (D) Tt

321/TUS/113A 18 I WEREAN R SO



35. Flowers for a flower arrangement should be plucked

(A) at night (B) in the morning
(C) in the afternoon (D) in the evening 1
ST Gl o foIC Godl 1 e dle1 =mfge?
(A) T % TEA (B) H9E % THI
(C) Qs Wl (D) 9™
36. Baking soda and ammonia are examples of 1
(A) alkali (B) polish
(C) bleach (D) abrasive
Sfeb drer 3 s fohesh 3w #7
(A) &r (B) uiferst
(C) fats=s (D) 3TTEH

37. Given below is a list of reagents. Specify one role of each in cleaning
surfaces (any four) : 2

(a) Kerosene

(b) Sawdust

(c) Sodium hypochloride
(d) Fuller’s earth

(e) Methylated spirit

T stfiemiel 61 TH g G TS R WARl hl HER A NS Hl TH i Samsg
(1 =) -

() fogt b ot

(@) S

() e BETERIES

(|1) Ferrd figt

(3) fwerseice forfie

INENRIEARA cer.o.
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38. Match Column—I with Column—II : 2

Column—I Column—II
(a) Alkali (i) Lemon
(b) Solvent (ii) Hydrogen peroxide
(c) Acid (iii) Ammonia
(d) Bleach (iv) Methylated spirit
frefaRea iem—I 3R Hiaw—II w1 e i -
HieTH—I HieH—II
(%) &R (i)
CIRERIEED (ii) TSN WIATHES
() = (iii) IR
(o) foore (sef) (iv) fuemgere fafe
39. How will you maintain a table made of polished wood? 2

T OifTe hil g RSl H oA H T@@E T HH BT ?

40. How will you clean a wooden chopping board? 2

Teh hgl o MU SIS hl THE 3T HH HUI?

41. Give reason for the following : 3
In a room cooler
(a) the water inlet in the pump is covered
(b) the water level should always be above the minimum level

(c) electricity switch should be switched off while filling water
frfafaa % e wru v -

Th FH Fol H 1 el 7 5

(%) U % T TR H eh eI ST B

(@) U FEAH TR FW AT MM

(M) Ut Wd T fasiell @ feag s gF1 =neu
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OPTION MODULE-B
Jehfeush Ais-B

( Creative Hand Embroidery )
( T gEI—HINaTRr )

34. (i) An analogous colour scheme is made by using which of the following
colours on the colour wheel? 1
(A) Colours lying opposite to each other
(B) Three colours lying adjacent to each other
(C) Three colours in a triangle
(D) Shades and tints of one colour
T HHEd! T AT, T =96 R EfIiad § 9 fohT T 1 370 ek st ¢
(A) TH-gER & faulia @
(B) o 1 St yrE-urE feud &
(C) Frepior & = T
(D) T & U & foe 3R W
Or / 31947
(i) Which colour is not used in a triad colour scheme?
A) Orange
B) Green
C) Purple
D) Red
U B O A § -0 T OH T A o Sra?
(A) At

(
(
(
(

(B) &
(C) s
(

D) &«
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35. Which of the following colours creates the effect of feminity? 1

(A) Pink (B) Dark gold
(C) Light yellow (D) Purple
frefeiRea o & @ ®H-T W Reifaa @1 gvE 3OE w87
(A) Tt (B) TEU FTEU
(C) @oehl dlel (D) st
36. Which factor is least important while selecting an embroidary design? 1
(A) Weather (B) Sex
(C) Age (D) Occassion
HETE h TSSME 1 T B THI HH-T1 g HEE FH HEEO 27
(A) e (B) fem
(C) g (D) 3T
37. Fill in the blanks (any four : 2
(a) Golden and silver are called _____ colours.

(b) Mixing of one primary and one secondary colour in equal quantities
give colour.

(c) Brightness and dullness of a colour is called
(d) White and black colours are called colours.

() ____is a cool colour.

Tk Tl 61 gfd AT (H18 =W)

(%) gTeu 3R =& W Fean

(@) T T IR T fgdiees U1 bl UK g | = & T 910 A1l g
(T) T < o9 3R Beshdd HI ___ Hed ¢l

(I) H%he 3 Hel T HEdd 2l

(8) ____ TH 31 T 2l
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38. State whether the following statements are True or False (any four) : 2
(a) Orange is a warm colour.
(b) Lightness and darkness of a colour is called hue.
(c) Shade is obtained by adding black to any colour.
(d) Green is a complimentary colour of red.

(e) Tetrad forms a square on the colour wheel.
2 fou o Fow wE F W o fafaw (@E =w)
(%) T Th T AT R

(@) T 1 geshod IR TG g FEA 2

(M) forel T | wHen @ e ¢ ¥ IS W '@l 2
(F) B T, a0 T H Th T il 2

() T8, T Ik H Uh a1 6l T Hid Bl

39. How will you enlarge a design? 2

319 Tl festre 1 8 wQdn?

40. Teach your friend the method of making a darning stitch. 2
3o T & ST feem sAm o fafy faamsy

41. Differentiate between geometrical and stylized designs. 3

A dU1 WiEdgss feomsd & 9 3=t &y hHifvg)

* kK
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